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1| ER=XIR JAL 10,000 56% 59%| 13,000 47%

2 | EE =18k JAL 10,000 73% 74%] 15,000 61%

3| ERER=#LIE JAL 10,000 70% 72%] 15,000 58%

4| FR=F1% JAL 10,000 75% 77%| 15,000 65%
5 | Kir=%2Hl JAL 10,000 54% 59%| 13,000 46%

6 | Kir=+L1% JAL 10,000 76% 77%] 15,000 66%

7| KR=3B8%R JAL 10,000 71% 73%| 15,000 59%

8 | faff] =#L1R JAL 10,000 80% 81%| 15,000 72%

9 | faif=#8%R JAL 10,000 64% 66%| 15,000 49%

10| R =25l JAL 10,000 76% 77% 15,000 65%
11| EE=hBJI| JAL 10,000 75% 76%| 15,000 64%
12| ERER=FI JAL 10,000 74% 76%] 15,000 64%
13| RE=:EFHE JAL 10,000 74% 75%| 15,000 63%
14| FRE=FKEE JAL 10,000 68% 70%| 15,000 55%
15| FR=F% JAL 10,000 67% 69%| 15,000 54%
16| HRR==IR JAL 10,000 66% 68% 15,000 53%
17| HE=FH JAL 10,000 59% 63% 15,000 44%
18] Em=U#E JAL 10,000 45% 51%| 15,000 26%
19| WRER=/ R JAL 10,000 54% 59%| 15,000 38%
20| RE=FiEE JAL 10,000 66% 68%| 15,000 52%
21| =L JAL 10,000 67% 69% 15,000 54%
22| RE=ILE JAL 10,000 68% 70%| 15,000 55%
23| EE=IUOF§ JAL 10,000 71% 73%| 15,000 59%
24| RRER=HE JAL 10,000 68% 70%] 15,000 55%
25| HBR=1&8 JAL 10,000 66% 68% 15,000 53%
26| RHE= .—ﬁ'A JAL 10,000 66% 68% 15,000 53%
27| Em=#\L JAL 10,000 69% 71%] 15,000 56%
28| RER=54%01 JAL 10,000 68% 70%| 15,000 55%
29[ EERER=JtAM JAL 10,000 73% 74%] 15,000 61%
0| FER=K% JAL 10,000 72% 74%] 15,000 60%
31| EER=KIF JAL 10,000 74% 76%] 15,000 64%
32| EE=FEX JAL 10,000 73% 74%| 15,000 61%
3| RE=EIF JAL 10,000 73% 74%] 15,000 61%
M| FR=RRE JAL 10,000 74% 76%| 15,000 64%
| FR=EFXXE JAL 10,000 78% 79%] 15,000 69%
36| KBrR=1hBJIl JAL 10,000 78% 79%| 15,000 69%
37| RBr=5Iz% JAL 10,000 78% 79%] 15,000 69%
38| Kifr=&mbmid  JAL 10,000 78% 79%] 15,000 68%
9| Xir=F% JAL 10,000 73% 74%| 15,000 61%
40| KR==iR JAL 10,000 74% 75%| 15,000 63%
41| KER=%H JAL 10,000 70% 72%| 15,000 57%
42| Kr=7t%& JAL/JEX 10,000 72% 73%] 15,000 60%
43| K=l JAL 10,000 69% 71%] 15,000 56%
44| Kr=1{l& JEX 10,000 68% 70%| 15,000 55%
45| KR=%15 JAL 10,000 66% 68%| 15,000 52%
46 | Kr =[5 JAL 10,000 55% 55%| 15,000 33%
47| K=& JAL 10,000 61% 64%| 15,000 46%
48| KER=FERK JAL/JEX 10,000 57% 61% 15,000 42%
49| Kir= E. =5 JAL/JEX 10,000 57% 61% 15,000 42%
50| Kfr=ERE [JAL/JEX 10,000 63% 66% 15,000 48%
51| Kr=8EXES | JAL/JEX]| 10,000 72% 74%] 15,000 61%
52| ZEE=#%LIE JAL 10,000 73% 75%| 15,000 62%
53| & E=#FlF JAL 10,000 76% 78%] 15,000 66%
54| ZEE=MEH  JAL 10,000 76% 77%] 15,000 66%
55| ZEE=E%H JAL 10,000 69% 71%] 15,000 57%
56 | AEE=FH JAL 10,000 65% 68%| 15,000 51%
57| ZEE=1E%5 JAL 10,000 68% 70%] 15,000 55%
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58| ZEE=LU# JAL 10,000 65% 67% 15,000 51%
59| HEoE=E& JEX 10,000 65% 67% 15,000 51%
60| EHE=%5 JAL 10,000 61% 61%| 15,000 41%
61| AEE=LL JAL 10,000 57% 57% 15,000 36%
62| ZBEE=540 JAL 10,000 61% 64% 15,000 46%
63| HTE=1aM JAL 10,000 61% 64%| 15,000 46%
64| ZHE=FEIH JAL 10,000 69% 71%] 15,000 56%
65| AEE=REXR [JAL/JEX 10,000 66% 68%| 15,000 52%
66| HE= F,,h% JEX 10,000 69% 71%| 15,000 56%
67| ZEE=IFH JAL 10,000 74% 75%| 15,000 63%
68| fERE=1{LE JAL 10,000 77% 78%] 15,000 67%
69 | 1= = 5% JAL 10,000 69% 71%| 15,000 57%
70| fRiE =% JAL 10,000 58% 61% 15,000 42%
71| 2R =10 JAL 10,000 52% 57% 15,000 35%
72| ER=EI& JAL 10,000 49% 54%| 15,000 32%
73| #LIE =2 Al JAL 10,000 53% 57% 15,000 36%
74| (LIR=FFH% JAL 10,000 53% 57% 15,000 36%
75| fLIR=%H JAL 10,000 60% 63% 15,000 44%
76| fLIR=1E%& JAL 10,000 60% 64%| 15,000 45%
77| #LIR=1L% JAL 10,000 66% 68%| 15,000 52%
78| #LIE=1{L& JAL 10,000 65% 67% 15,000 51%
79 | ALIE=E%0H JAL 10,000 73% 74%| 15,000 62%
80| ALIE=ILE JAL 10,000 78% 79%] 15,000 69%
81| ALIE= ﬁ = JAL 10,000 78% 79%| 15,000 68%
82| FIE=fE JAL 10,000 78% 79%] 15,000 69%
83 JEL%% TEKY] JAL 10,000 57% 60% 15,000 41%
84| BRE=EFZ5 JAL 10,000 63% 66% 15,000 48%
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1| ER=38%8 JTA 10,000 75% 77%| 15,000 65%
2 | KBr=3R%8 JTA 10,000 71% 73%| 15,000 59%
3| =3 JTA 10,000 64% 66% 15,000 49%
4| EE=Hi8 JTA 20,000 66% 67% 30,000 51%
5| HE=En JTA 20,000 64% 65% 30,000 48%
6| RR=AXE JTA 18,000 65% 66% 25,000 53%
7| KEr=F18 JTA 20,000 59% 60% 30,000 41%
8 | Kfx=&=d JTA 20,000 57% 59%| 30,000 39%
9| HAE=FAIE JTA 20,000 62% 64%| 30,000 46%
10| /Ma=3R%R JTA 10,000 75% 77%| 15,000 65%
11| ZHE=3R JTA 10,000 74% 75%] 15,000 63%
12| =3RS JTA 10,000 71% 73% 15,000 59%
13| #WLU=3RZ JTA 10,000 68% 70%| 15,000 55%
14| bR =3R%R JTA 10,000 64% 66%| 15,000 49%
15| EH=FH1E JTA 10,000 57% 59%| 15,000 38%
16| AMFE=Ec JTA/RAC 10,000 43% 46%] 15,000 19%
17| AEE=EdA JTA/RAC 8,000 33% 35% 10,000 19%
18| MB=AXE JTA/RAC 8,000 32% 35% 10,000 19%
19 RIE=58H JTA/RAC 8,000 32% 35% 10,000 19%
20| BH=5HE RAC 10,000 68% 70% 15,000 55%
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1| KBr=1&k JAC 10,000 54% 59%] 13,000 46%
2| Kir=%r8 JAC 10,000 66% 68% 15,000 52%
3| KER=1EME2HE JAC 10,000 57% 60%| 15,000 40%
4 KBr=137/M{EE JAC 9,000 27% 27% 11,000 11%
5| KBr=[25& JAC 10,000 55% 55%| 15,000 33%
6| Kix=HZ= JAC 10,000 48Y% 51% 12,000 41%
7] KErx=#11 JAC 10,000 41% 48%| 15,000 22%
8| Kfr=X% JAC 10,000 48% 53% 15,000 30%
9| KR=EIj JAC 10,000 57% 61% 15,000 42%
10 KIrR=FERE JAC 10,000 63% 66%| 15,000 48%
11| Kir=1#EF5 JAC 10,000 69% 69% 15,000 54%

12| RKIR=EAE JAC 10,000 71% — —
13| sERE={EMEDILE JAC 10,000 72% 73%| 15,000 60%
14 BA=HZE JAC 10,000 60% 64% 15,000 45%
15| {BR=1E5 JAC 10,000 60% 61%| 15,000 42%
16| 12k ="T2I% JAC 10,000 49% 54%| 15,000 32%
17| EE=FERE JAC 10,000 46% 52%] 15,000 28%
18] fLiR={EMZEDLE JAC 10,000 72% 74%] 15,000 60%
19 HE=[2IRK JAC 9,000 27% 27% 11,000 11%
20| ILEA=EK JAC 10,000 58% 61%| 15,000 42%
21| ERE=L JAC 10,000 66% 67% 15,000 51%
22| ERE=[LERA JAC 10,000 58% 61% 15,000 42%
23| ERE=a JAC 10,000 66% 67% 15,000 50%
24| BERE=#¥ JAC 10,000 61% 63% 15,000 44%
25| ERE=1EFE JAC 8,000 37% 37% 10,000 21%
26| ERE=EAE JAC 9,000 35% 35% 11,000 21%
27| ERE=EZXXE JAC 10,000 57% 60% 15,000 41%
28| BRE=ERE JAC 10,000 59% 59%| 15,000 38%
29| BRRE=FKEE JAC 10,000 66% 66% 15,000 49%
0| BERE=5%H JAC 10,000 68% 68% 15,000 52%
31| BEXE=ERE JAC 7,000 26% 26% 9,000 5%
2| BEXKE=fEZE JAC 9,000 32% 32% 11,000 17%
33| BEXE=/FKEH JAC 10,000 40% 40%] 15,000 11%
34| HXKEEH=5 JAC 7,000 30% 30% 9,000 10%
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1 #LwkE = 8 2% HAC 10,000 49% 54%| 15,000 32%
2| E¥=4FlE HAC 10,000 49% 54%| 15,000 32%
3| #LMR=EKEE HAC 10,000 40% 44%| 15,000 16%
4| EX=iKfE HAC 10,000 40% 44%] 15,000 16%
5| BEKEE=JEJI| HAC 10,000 46% 52%| 15,000 28%
6| ENEE =8I HAC 10,000 61% 64% 15,000 46%
7] HEE=ER HAC 10,000 36% 40% 15,000 11%
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